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series.

KWX, NSA, QOD, TKG, WGI, ?

Q.1 Select the letter-cluster from among the given options that can replace the question mark (?) and continue the given

Ans X' 1. ZDM
K 2. CAN
< 3. AND
v 4 ZCM
Question ID : 1151351964
Option 1 ID : 1151357853
Option 2 ID : 1151357854
Option 3 ID : 1151357856
Option 4 ID : 1151357855
Status : Answered
Chosen Option : 4
Q2 spgar Sofeor SUTER & HER, T & & 5w Tew # Rr) g @ (2019 F ) vl @7
Ane X1 ZeaT g
v 2 Heg qeEr
X RER
X4 TedrEIg
Question ID : 1151352346
Option 1 ID : 1151359381
Option 2 ID : 1151359382
Option 3 ID : 1151359384
Option 4 ID : 1151359383
Status : Answered
Chosen Option : 2
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Q3 e G55 TY B T SEQRTA AHF TE F S F FAe 1932 F AR #r T
off|

Ans X1ﬂia-aa-
X2 ST AT HgE
X 3. ITUT ITOE 3ol

4 AGTeAT mefr
Question ID : 1151352378
Option 1 ID : 1151359509
Option 2 ID : 1151359510
Option 3 ID : 1151359511
Option 4 ID : 1151359512
Status : Answered
Chosen Option : 4
Q.4 In which year was the Azad Hind Radio Service as part of Germany's radio service started?
Ans 1. 1942
< 2. 1940
X 3. 1939
< 4. 1938
Question ID : 1151352377
Option 1 ID : 1151359508
Option 2 ID : 1151359507
Option 3 ID : 1151359506
Option 4 ID : 1151359505
Status : Answered
Chosen Option : 1
Q.5 Asum of 23680 is invested at 12.5% p.a. simple interest for 6 years. What will be the total amount payable on maturity?
Ans X 1. 36420
X 2. 26460
« 3. 26440
X 4. 6480
Question ID : 1151351603
Option 1 ID : 1151356412
Option 2 ID : 1151356410
Option 3 ID : 1151356411
Option 4 ID : 1151356409
Status : Answered
Chosen Option : 3
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The roots of the equation 9 (x+9)2=441 are:
Ans X1 2.16

X2 1221

X 3.=12,:21

4 -2-16
Question ID : 1151351633
Option 1 1D : 1151356530
Option 2 ID : 1151356529
Option 3 ID : 1151356532
Option 4 ID : 1151356531

Status : Answered
Chosen Option : 4
Q.7 Xcando a certain work in 84 days. Y is 50% less efficient than X while Z takes 28 days to do the same work. To
complete the work, Y started the work, X joined him after 3 days and Z joined them after 7 days from the beginning.
For how many days did Z work to complete the work?
Ans @117

X2 14

X3 16

x4 15
Question ID : 1151351616
Option 11D : 1151356461
Option 2 ID : 1151356462
Option 3 ID : 1151356463
Option 4 ID : 1151356464

Status : Not Answered
Chosen Option : --

Q.8 1Ina group of students, the number of girls is three-fourth of the number of boys. If two-third of the number of girls
and one-half of the number of boys like mango juice, then what fraction of the total number of girls and boys like

mango juice?
Ans 1
p
7
4
o2 —
7
_ 2
<3 —
7
_ =
Xa _
7

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

1151351622
1151356487
1151356488
1151356486
1151356485
Answered
2
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Q.9 The perimeter of a square is equal to the perimeter of a rectangle of length 56 cm and breadth 42 cm. Find the perimeter

of a semicircle (in cm) whose diameter is equal to the side of the square (Use m = ?)

Ans 1. 126
X2 224
<3 198
X4 182
Question ID : 1151351621
Option 1 ID : 1151356483
Option 2 ID : 1151356484
Option 3 ID : 1151356481
Option 4 ID : 1151356482
Status : Answered
Chosen Option : 1
Q.10 According to World Steel Association, which of the following countries was the global leader in steel production for the
year 20207
Ans % 1. Japan
X 2. India
X< 3. The US
+ 4 China
Question ID : 1151352351
Option 1 ID : 1151359404
Option 2 ID : 1151359401
Option 3 ID : 1151359402
Option 4 ID : 1151359403
Status : Answered
Chosen Option : 4
Q11 Select the option that will fill in the blank and complete the given series.
ABCD, XY ZA, XXXX, UVWX, UUUU
Ans 1. AAAA
X 2. DCBA
X 3. DDDD
< 4. BCBA
Question ID : 1151351983
Option 1 ID : 1151357931
Option 2 ID : 1151357930
Option 3 ID : 1151357929
Option 4 ID : 1151357932
Status : Answered
Chosen Option : 1
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Q.12 2021 # forw TR s¥-9s e AR Yo Ao 9F & sifew waa (G) T ST gam?
A + . o]
" X1 ATITERT (TeRT) GTEET
v 2 HET FEHBI GfeaT

X 5. ggfas 9fEer

X4 At 9fder
Question ID : 1151352336
Option 1 ID : 1151359341
Option 2 ID : 1151359342
Option 3 ID : 1151359344
Option 4 ID : 1151359343
Status : Answered
Chosen Option : 4
Q13 Thevalueof 5—10+5x2—[12+6 of (5X6+(6—9)+13}x (8+40f3)] is
Ans 5
r
6
2
2.0
3
5
3.5
g
4
X4 _
9
Question ID : 1151351614
Option 1 ID : 1151356456
Option 2 ID : 1151356454
Option 3 ID : 1151356455
Option 4 ID : 1151356453
Status : Answered
Chosen Option : 3
Q14 o & & #i7 T Zur Feaies = 30 g7 F 7T F TN S o0 e 1 IEeT 597 a9 I 2
AN v e greaTER
X2 HeaTaar
o r-c o)
X4 szafeeaeT
Question ID : 1151352342
Option 11D : 1151359367
Option 2 ID : 1151359368
Option 3 ID : 1151359365
Option 4 ID : 1151359366
Status : Answered
Chosen Option : 2
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Q.15 |f + means addition, X means subtraction, + means multiplication and — means division then
40-20+6x%x2+5="7
Ans (1. 13
X2 16
<3 14
W4 15

Question ID : 1151351978
Option 1 ID : 1151357909
Option 2 ID : 1151357912
Option 3 ID : 1151357910
Option 4 ID : 1151357911
Status : Answered
Chosen Option : 4

Q.16 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one
that is different.

Ans « 1. KNF
< 2. PSL
X 3. IMF
X 4. UXQ
Question ID : 1151351965
Option 1 ID : 1151357857
Option 2 ID : 1151357858
Option 3 ID : 1151357859
Option 4 ID : 1151357860
Status : Answered
Chosen Option : 1
QA7 f3mEa. (DRDO) gar Rwfaa gt fEmse wiaws e fiven &1 I gamor e
2021 # fFg T 9 TFm T ar?
Ans X 1. HBRTSE
X2 qfggd 9
X3 HTT weRT
v 4 3ifger

Question ID : 1151352338
Option 1 ID : 1151359352
Option 2 ID : 1151359350
Option 3 ID : 1151359351
Option 4 ID : 1151359349
Status : Answered
Chosen Option : 3
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Q18 wWhich part of the Indian Constitution is related with the Panchayats?

Ans X 1. VIII
X2 X
o3 IX
X4 IXA
Question ID : 1151352361
Option 1 ID : 1151359441
Option 2 ID : 1151359442
Option 3 ID : 1151359443
Option 4 ID : 1151359444
Status : Answered
Chosen Option : 3
Q19 5o Rt v 9FT F 3R F IR T T 1 {1 5 @ FERRE ad | R
1. B, G 3R D = F 3% mor0 7 #7 &
2. H, B % ¥ 3 It U 3= 71 H, A F I 3T g T W e #
3. C H3R G 3= % 8% ao= F ¥ ¥
4 AR FORg & AT w33 E 3 F, B & a8 3N g oo ) 397 ¢
ofFq & fraar et §2
Ans o 1. 7
2 8
X3 6
X4 5
Question ID : 1151351969
Option 1 ID : 1151357874
Option 2 ID : 1151357875
Option 3 ID : 1151357873
Option 4 ID : 1151357876
Status : Answered
Chosen Option : 1
Q.20 Five friends, Purva, Roshan, Vibhor, Luna and Anuj, are wearing five different coloured T-shirts, red, black, purple,
vellow and blue. Each of the friends is allergic to one of the following: nuts. dairy, cats, fish and dust, such that no two
has the same allergy.
Luna is allergic to cats but is not wearing a purple T-shirt. The one wearing a yellow T-shirt has dust allergy. Purva is
wearing a black t-shirt but is not allergic to dairy or fish. Vibhor is wearing a purple T-shirt but does not have fish
allergy. Luna is wearing a blue T-shirt. Roshan is wearing a red T-shirt. Who is allergic to dust?
Ans X 1. Vibhor
X 2. Purva
< 3. Roshan
« 4. Anuj
Question ID : 1151351962
Option 1 ID : 1151357845
Option 2 ID : 1151357848
Option 3 ID : 1151357846
Option 4 ID : 1151357847
Status : Not Answered
Chosen Option : --
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Q.21 The cost of cultivating a square field at the rate of 2320 per hectare is T2880. Find its area.
(Use 1 hectare = 10000 sq.m)

Ans 5160000 sq.m
x 2. 70000 sq.m
x 3. 80000 sq.m

4 90000 sq.m

Question ID : 1151351634
Option 1 1D : 1151356535
Option 2 ID : 1151356536
Option 3 ID : 1151356533
Option 4 ID : 1151356534
Status : Answered
Chosen Option : 4
Q.22 :
2 (Shogatsu), e & & @ gor &1 77 av =ER 27
Ans X1 gTSiTer
x 2 r:lr?i, EE
3 AT
X4 |
Question ID : 1151352355
Option 1 ID : 1151359419
Option 2 ID : 1151359417
Option 3 ID : 1151359420
Option 4 ID : 1151359418
Status : Answered
Chosen Option : 3
Q@23 Which one of the following is NOT a feature of an Open Economy?
Ans X 1. Freedom to foreign investment
X 2. Delicensing of Industries
+ 3. Restrictions on Large-scale industries
X 4. Freedom to import technology
Question ID : 1151352367
Option 1 ID : 1151359467
Option 2 ID : 1151359465
Option 3 ID : 1151359468
Option 4 ID : 1151359466
Status : Answered
Chosen Option : 3
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@24 Eind the area of a rhombus whose diagonals are 48m and 64m long.
Ans o1 1436 sqm.

%< 21636 sq.m

x3.1736 sq.m

« 4. 1536 sq.m

Question ID : 1151351629
Option 1 ID : 1151356516
Option 2 ID : 1151356514
Option 3 ID : 1151356513
Option 4 ID : 1151356515
Status : Answered
Chosen Option : 4

Q.25 fye7 3nfd F= (World Economic Forum) % @R, AT 2021 & 9Iod ST & R @, fars &
T B g & &7 F Al = A st gw =t e

X 1. TgFd T AN
X2 o

3. ‘il'gmﬂﬁ'l?ﬂ'

Ans

X4 HId

Question ID : 1151352353
Option 1 1D : 1151359409
Option 2 ID : 1151359411
Option 3 ID : 1151359412
Option 4 ID : 1151359410
Status : Answered
Chosen Option : 1

Q.26 fr it TEaEr F o F 2950 ¥ TEEWT ¥ 2250 S W TR F O s & ufyr @eh, S
TEATT & 98 Tge ¥ off| 39 T &7 AFIT Ad FAC S I F FgawT A A@Ea & 9 o)

Ans X1.9:7
v212 :7
X313 :9
X47:5

Question ID : 1151351623
Option 1 ID : 1151356490
Option 2 ID : 1151356491
Option 3 ID : 1151356492
Option 4 ID : 1151356489
Status : Answered
Chosen Option : 2
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Q.27

Ans

'Midnight's Children' which portrays India's transition from British colonial rule to independence and partition of India

is written by :

+ 1. Salman Rushdie
X 2. Vidiadhar Surajprasad Naipaul

X< 3. Amitav Ghosh
X 4. Vikram Seth

Question ID : 1151352383
Option 1 ID : 1151359530
Option 2 ID : 1151359532
Option 3 ID : 1151359531
Option 4 ID : 1151359529
Status : Answered
Chosen Option : 1
Q.28 What is the address of the cell in the tenth row of the fifth column in an MS-Excel worksheet?
Ans X 1. 5]
« 2 El0
X3 J5
X 4. 10E
Question ID : 1151352384
Option 1 1D : 1151359536
Option 2 ID : 1151359533
Option 3 ID : 1151359535
Option 4 ID : 1151359534
Status : Answered
Chosen Option : 4
Q.29 A question is given, followed by two statements labelled I and II. Decide which of the statements is/are
sufficient/necessary to answer the question and select the correct answer.
Question:
Who is the shortest among Shamita, Tanya and Rekha?
Statements:
1. Shamita is taller than Rekha. Rekhais shorter than Tanya.
II. Rekha is shorter than Surbhi.  Surbhi is taller than Shamita. Tanya is shorter than Surbhi.
(A) Statement I alone is sufficient to answer the question, whereas Statement II alone is not sufficient to answer the
question.
(B) Statement IT alone is sufficient to answer the question, whereas statement I alone is not sufficient to answer the
question.
(C) Both statements I and II together are not sufficient to answer the question.
(D) Both statements I and II together are necessary to answer the question.
Ans x4 C
W2 A
X3 D
X4 B
Question ID : 1151351967
Option 1 ID : 1151357867
Option 2 ID : 1151357865
Option 3 ID : 1151357868
Option 4 ID : 1151357866
Status : Answered
Chosen Option : 2
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Q.30 What is the approximate percentage, by weight, of oxygen in the earth’s crust?
Ans 1. 46.6%

X 2. 19.6%
X 3. 16.6%
X 4. 36.6%
Question ID : 1151352368
Option 1 ID : 1151359471
Option 2 ID : 1151359470
Option 3 ID : 1151359469
Option 4 ID : 1151359472
Status : Answered
Chosen Option : 3
Q.31 Read the given sitting arrangement information and answer the question that follows.
Puneet, Monu, Jyoti, Umesh. Tapsi, Vinod, Pushpa and Saha are sitting at a square table in such a way that four of them
are sitting at four corners of the table, while the other four are sitting in the middle of each of four sides of the table.
The four who are sitting at the corners of the table are facing the centre. whereas those who are sitting in the middle of
the sides of the table are facing outside. Puneet, who is facing the centre, is sitting third to the right of Vinod. Tapsi. who
is facing centre, is not an immediate neighbour of Vinod. Only one person is sitting between Vinod and Pushpa. Umesh
sits second to the right of Monu. Monu is facing the centre. Jyoti is not an immediate neighbour of Puneet.
‘Which of the following statements regarding Monu is true?
Ans 1. Monu is an immediate neighbour of Saha.
X 2. Monu is sitting immediately Right of Tapsi.
+ 3. Monu is sitting exactly between Vinod and Pushpa.
X 4. Monu is an immediate neighbour of Jyofi.
Question ID : 1151351977
Option 1 1D : 1151357905
Option 2 ID : 1151357907
Option 3 ID : 1151357908
Option 4 ID : 1151357906
Status : Not Answered
Chosen Option : --

Q.32 =3 o i O e B cofda o oRehe FTeT # 3T 19 & # O d9 & o S i s
¥, e o8 Ee/HREd A g 12

ANS X 1. 3qwuT (Certiorari)
v 2. ATYHT J=&T (Quo Warranto)

X 3. g4 gcgefeur (Habeas Corpus)
X 4. uTHT (Prohibition)

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :
Chosen Option :

: 1151352358

1151359431

: 1151359429

1151359432
1151359430
Answered
4
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Q.33

Ans

What was the rank of India in the medal tally at the 14th International Olympiad on Astronomy and Astrophysics

(IOAA) 2021, organized by Colombia in November 20217

« 1. First
X 2. Fourth
X 3. Third
X 4. Second

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352339
1151359353
1151359356
1151359355
1151359354
Not Answered

Ans

X1 22%
v 2. 20%
X3 23%
X4 21%

Q.34 = v A F 37.5% & A 9T F94AT ¥ IfE 3EF W 12.5% wH 9r wier g, A 5w 2330 F4
T AT g, A 3 10% S AT oA | A T H 7e 31,000 ¥ fhae gfonee w87

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351627
1151356506
1151356507
1151356508
1151356505
Not Answered

Q.35

Ans

With reference to abundant elements in Earth's Crust, which among the following is the most abundant metal in the

earth's crust?

X 1. Barium

+ 2. Aluminium
X 3. Titanium
X 4. Manganese

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352369
1151359473
1151359476
1151359474
1151359475
Answered

2
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Q.36 Select the number from among the given options that can replace the question mark (?) and continue the given series.
6,27, 128,629,7
Ans 1. 3130
X 2.:3131
X3 2121
X4 2120

Question ID : 1151351973
Option 11D : 1151357891
Option 2 ID : 1151357892
Option 3 ID : 1151357889
Option 4 ID : 1151357890

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.37 Incertain code language,

“You are bad’ is written as YO LO PO’, *Schools are bad" is written as *“NO PO YO’, and *You are human’ is written as
‘LOPORO".

How will ‘Human are bad’ be written in that language?

Ans X' 1. ROYO NO
+ 2 ROYO PO
X3 RONOPO
X4 ROPOLO

Question ID : 1151351974
Option 1 ID : 1151357894
Option 2 ID : 1151357893
Option 3 ID : 1151357895
Option 4 ID : 1151357896
Status : Answered
Chosen Option : 4

Q.38 1f the 5-digit number 505xy is divisible by 11 and 21, then what is the value of (7x — 5y) ?
Ans X1 |6

X2 30

X3 31

« 4 11

Question ID : 1151351612
Option 1 ID : 1151356448
Option 2 ID : 1151356445
Option 3 ID : 1151356446
Option 4 ID : 1151356447
Status : Answered
Chosen Option : 4
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Ans

# 1. Kunal Basu
« 2. Kavitha Rao
# 3. Jairam Ramesh

X 4. Anuradha Roy

Q.39 Who is the author of the book “Lady Doctors: The Untold Stories of India’s First Women in Medicine’?

Question ID : 1151352343
Option 1 ID : 1151359372
Option 2 ID : 1151359369
Option 3 ID : 1151359371
Option 4 ID : 1151359370
Status : Not Answered
Chosen Option : --

Ans

xw.lsgwﬁ

&2 1?5%

X 3. 16— %
18

x4 21309
37

Q.40 By selling an item for 222, a person incurs a loss of Z48. What is the percentage of loss incurred in the transaction?

Question ID : 1151351602
Option 1 ID : 1151356408
Option 2 ID : 1151356407
Option 3 ID : 1151356405
Option 4 ID : 1151356406
Status : Not Answered
Chosen Option : --

Q.41

Ans

of the Constitution of India provides that no discrimination can be made against a citizen on grounds only of

race, religion, caste, or place of birth or any of them.

X 1. Article 16
+ 2. Article 15
X 3. Article 19
X 4. Article 17

Question ID : 1151352356
Option 1 ID : 1151359421
Option 2 ID : 1151359423
Option 3 ID : 1151359424
Option 4 ID : 1151359422
Status : Answered
Chosen Option : 4
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Q42 WWhich of the following is called the ‘powerhouse of the cell’?
Ans  X1. Red blood cells

+ 2. Mitochondria

X 3. White blood cells

X 4. Plasma membrane

Question ID : 1151352370
Option 1 ID : 1151359477
Option 2 ID : 1151359479
Option 3 ID : 1151359480
Option 4 ID : 1151359478
Status : Answered
Chosen Option : 2
Q.43 IIK is an isosceles triangle in which IJ = TK. The value of £ITK is what percentage less than 120°, if 2JIK = 60°.
Ans X' 1. 52%
X 2. 55%
X 3. 54%
o 4 50%
Question ID : 1151351626
Option 1 ID : 1151356501
Option 2 ID : 1151356503
Option 3 ID : 1151356502
Option 4 ID : 1151356504
Status : Answered
Chosen Option : 4
Q.44 Read the given statement and conclusions carefully. Decide which of the given conclusions is/are true based on the
given statement.
Statement:
A>B=Q<H<X<K
Conclusions:
I B<K
oL X=>Q
Ans % 1. Only conclusion I is true
X 2. Only conclusion II is true
+ 3. Both conclusions I and conclusion II are true
X 4. Neither conclusion I nor II is true
Question ID : 1151351986
Option 1 ID : 1151357941
Option 2 ID : 1151357942
Option 3 ID : 1151357944
Option 4 ID : 1151357943
Status : Answered
Chosen Option : 3
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Ans X' 1. West

Q.45 Deepika starts her evening walk facing north and walks for 2 km. Then, she takes a right turn and walks for another 2
km. Finally, she takes a left turn and walks for another 3 km. Which direction is she facing now? (All turns are 90° turns only)

Chosen Option :

X 2. East
+ 3. North
X 4. South
Question ID : 1151351970
Option 1 ID : 1151357878
Option 2 ID : 1151357879
Option 3 ID : 1151357877
Option 4 ID : 1151357880
Status : Answered
Chosen Option : 3
Q.46 Which of the following options is the closest approximate value which will come in place of question mark(?) in the
following equation?
5.01+(3.01 % 1.99%) x4 +6.01 +2.03=7
Ans « 1. 50
K2 65
X3 57
X 4.:5)
Question ID : 1151351979
Option 1 ID : 1151357916
Option 2 ID : 1151357915
Option 3 ID : 1151357913
Option 4 ID : 1151357914
Status : Answered
Chosen Option : 1
Q.47 . 2 3 1 3 .
The value of the expression ?5 % 5 T 9 o 6; is
Ans i
X1 114—
24
; 3
X2 98 —
24
3
«3 108 —
24
; 7
X4 103 —
24
Question ID : 1151351620
Option 1 ID : 1151356480
Option 2 ID : 1151356479
Option 3 ID : 1151356478
Option 4 ID : 1151356477
Status : Not Answered
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Q.48 Acando a certain work in 15 days and B can do one-third of the same work in 10 days. A and B work together for 6
days and then A leaves. B completes the remaining work with C in 8 days. A and C together can complete the original

work in:
Ans 1. 12 days
X 2. 9 days
X 3. 15 days
X 4. 18 days
Question ID : 1151351613
Option 1 ID : 1151356450
Option 2 ID : 1151356449
Option 3 ID : 1151356451
Option 4 ID : 1151356452
Status : Answered
Chosen Option : 1
Q.49 Which one of the following is NOT a basic principle of Micro Finance Institutions in India?
Ans % 1. Lack of physical collateral
X 2. Peer monitoring
X 3. Focus on women borrowers
« 4. Large amounts of loan
Question ID : 1151352366
Option 1 1D : 1151359462
Option 2 ID : 1151359463
Option 3 ID : 1151359464
Option 4 ID : 1151359461
Status : Answered
Chosen Option : 3
Q.50 Sports Journalists' Federation of India (STFI) Para-athlete Woman of the Year Award 2021 winner Avani Lekhara plays
which sport?
Ans X 1. Badminton
X 2. Javelin throw
X 3. Shotput
+ 4. Shooting
Question ID : 1151352340
Option 1 1D : 1151359357
Option 2 ID : 1151359358
Option 3 ID : 1151359360
Option 4 ID : 1151359359
Status : Answered
Chosen Option : 2
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@31 The pH of a neutral solution is on the pH scale.

Ans 1. 14
X2 5
3. 7
X410

Question ID : 1151352373
Option 1 1D : 1151359489
Option 2 ID : 1151359491
Option 3 ID : 1151359492
Option 4 ID : 1151359490
Status : Answered
Chosen Option : 3

@52 With respect to Industry and Trade, MRTP stands for
Ans X 1. Moderate and Restrictive Trade Protocols

X 2. Monopolistic and Reinforcing Trade Protocols
« 3. Monopolies and Restrictive Trade Practices

X 4. Monetary and Repository Trade Practices

Question ID : 1151352363
Option 1 ID : 1151359450
Option 2 ID : 1151359452
Option 3 ID : 1151359449
Option 4 ID : 1151359451
Status : Not Answered
Chosen Option : --

Q.53 Lokesh runs 4 km facing east, takes a left turn and runs for another 3 km. He finally takes a left turn, runs 4 km and
stops. Which direction is he facing now and what is the shortest distance he has to cover to reach back to the starting
point? (All turns are 90° turns only)

Ans 1. West, 7 km
X 2. North, 4 km
X 3. North, 7 km
« 4. West, 3 km

Question ID : 1151351971
Option 1 ID : 1151357884
Option 2 ID : 1151357883
Option 3 ID : 1151357881
Option 4 ID : 1151357882
Status : Answered
Chosen Option : 4
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Q.54 Which of the following keyboard shortcuts is used to lock your PC in a Windows 10 operating system?

Ans X 1. Windows logo key ~ D

X2 Ctrl + K
+ 3. Windows logo key + L
X4 Ctrl +L
Question ID : 1151352385
Option 1 ID : 1151359538
Option 2 ID : 1151359540
Option 3 ID : 1151359537
Option 4 ID : 1151359539
Status : Answered
Chosen Option : 3
Q.55 1fthe rate of interest is 20% per annum and interest is compounded half yearly, then 'm% years a sum of 4000 will
amount to:
Ans X' 1. 35224
X2 35234
o 3. 35324
X4 I5334
Question ID : 1151351628
Option 1 ID : 1151356511
Option 2 ID : 1151356510
Option 3 ID : 1151356509
Option 4 ID : 1151356512
Status : Answered
Chosen Option : 3
Q56 The greatest number that exactly divides 536, 1064 and 1928 is
Ans 1. 8
X2 4
X3 12
X4 6
Question ID : 1151351619
Option 1 ID : 1151356475
Option 2 ID : 1151356473
Option 3 ID : 1151356476
Option 4 ID : 1151356474
Status : Answered
Chosen Option : 1
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the batsman in these innings.

65, 180, 81, 6, 63, 27, 122, 8, 165, 50

Q.57 Given are the scores of a batsman in the last 10 innings. Find the median score of

Ans X 1. 64.5
2. 064
X 3. 65
X 4. 63
Question ID : 1151351617
Option 1 ID : 1151356466
Option 2 ID : 1151356467
Option 3 ID : 1151356468
Option 4 ID : 1151356465
Status : Answered
Chosen Option : 2
Q.58 Read the given statements and conelusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follows from
the statements.
Statements:
1. All glasses are plates.
2. No plate is a spoon.
Conclusions:
I.  Some glasses are spoons.
II.  No spoon is a glass.
Ans X 1. Either conclusion I or II follows
+ 2. Only conclusion II follows
X 3. Neither conclusion I nor II follows
X 4. Only conclusion I follows
Question ID : 1151351985
Option 1 ID : 1151357939
Option 2 ID : 1151357938
Option 3 ID : 1151357940
Option 4 ID : 1151357937
Status : Answered
Chosen Option : 2
Q.59 Tetanus is a serious disease of the nervous system caused by a toxin-producing:
Ans X 1. protist
X 2. fungus
X 3. parasite
+ 4. bacterium
Question ID : 1151352371
Option 1 ID : 1151359484
Option 2 ID : 1151359482
Option 3 ID : 1151359483
Option 4 ID : 1151359481
Status : Answered
Chosen Option : 4
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Aseema working together complete the same work?

Q.60 Anmol can complete a piece of work in 25 days. Together with Garima he can complete the same work in 15 days,

while Anmol and Aseema working together can complete the same work in 20 days. In how many days can Garima and

Ans 300
o 1. —
11
<2 30
x3 29
250
X 4. 5=
g
Question ID : 1151351604
Option 1 ID : 1151356416
Option 2 ID : 1151356413
Option 3 ID : 1151356415
Option 4 ID : 1151356414
Status : Answered
Chosen Option : 1
Q.61 In a certain code language, CABLE is coded as 65@7#, and PARKLET is coded as 85917#2. How will ELRAP be
coded in that language?
Ans X1, 7#058
X 2. 9#785
K 3. #0587
o 4 #7958
Question ID : 1151351987
Option 1 ID : 1151357945
Option 2 ID : 1151357947
Option 3 ID : 1151357948
Option 4 ID : 1151357946
Status : Answered
Chosen Option : 4
Q.62 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commeonly known facts, decide which of the given conclusions logically follow(s)
from the statements.
Statements:
a) All tops are t-shirts.
b) Some shrugs are t-shirts.
Conclusions:
L. Some tops are shrugs.
II. All T-shirts are tops.
Ans & 1. Neither conclusion I nor II follows.
X 2. Only conclusion I follows.
< 3. Both conclusions I and II follow.
X 4. Only conclusion II follows.
Question ID : 1151351966
Option 1 ID : 1151357864
Option 2 ID : 1151357861
Option 3 ID : 1151357863
Option 4 ID : 1151357862
Status : Answered
Chosen Option : 1
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Ans X' 1. Kota
X 2. Malasar
« 3. Bhutia

& 4 Kurumba

Q63 Which of the following tribes is NOT native to the state of Tamil Nadu?

Question ID : 1151352347
Option 1 1D : 1151359386
Option 2 ID : 1151359387
Option 3 ID : 1151359388
Option 4 ID : 1151359385
Status : Answered
Chosen Option : 3
Q64 198t eraredy # AT AR F WA F Al ARy # TARS g
Ane X1 smare atfeaery
2. ST HEeT
X 3. 89T HEER
X 4 $ETET TSI
Question ID : 1151352379
Option 11D : 1151359516
Option 2 ID : 1151359515
Option 3 ID : 1151359513
Option 4 ID : 1151359514
Status : Answered
Chosen Option : 4
Q65 <p + Q" means ‘P is the daughter of Q’
‘P ¥ Q" means ‘P is the son of
‘P— Q' means ‘P is the wife of Q’
Which of the following options is correct for the given expression?
A+ B=Cxy
Ans X 1. Bis the son of D
« 2. Als the daughter of D’s Son
X 3. B is the daughter of D
X 4. C is the wife of D
Question ID : 1151351975
Option 1 ID : 1151357897
Option 2 ID : 1151357899
Option 3 ID : 1151357898
Option 4 ID : 1151357900
Status : Answered
Chosen Option : 2
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Ans

Q66 ‘gfee el foaE F T A wARsT | arufie yEaa whaert F ¥ o §
v qET |

X2 e =

X 3. T

X4 TH. B AL

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352382
1151359527
1151359526
1151359525
1151359528
Not Answered

Q.67 Jat-Tatin is one of the most popular folk dance form of which among the following states?
Ans X 1. Madhya Pradesh

X 2. Assam

+ 3. Bihar

X 4. Chhattisgarh

Question ID : 1151352380
Option 1 ID : 1151359517
Option 2 ID : 1151359519
Option 3 ID : 1151359520
Option 4 ID : 1151359518
Status : Answered
Chosen Option : 4
Q.68 In the following number-pairs, the second number is obtained by applying certain mathematical operations to the first
number. In three of the four pairs. the same pattern is applied and hence they form a group. Select the number-pair that
does NOT belong to this group.
Az 215
B.4:18
C.6:39
D. 8:66
Ans X1 B
X2 A
3 D
X4 C
Question ID : 1151351990
Option 11D : 1151357958
Option 2 ID : 1151357957
Option 3 ID : 1151357960
Option 4 ID : 1151357959
Status : Answered
Chosen Option : 3
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O gy i@ & e v F foua 2

Ans 1. THET
X 2. 931 ggrer
v 3 WE
X+ gesr 3R WET TEEEw

Ans +
X . WgFd T AN
X2 3
X3 faee
o 4wl
Question ID : 1151352354
Option 1 ID : 1151359415
Option 2 ID : 1151359413
Option 3 ID : 1151359416
Option 4 ID : 1151359414
Status : Answered
Chosen Option : 1
Q.70 1991 & uRa # s adfdT Hr gy F e, . 39 TT 36TET A W TF ¢, TeE
e ez a=dw aa == e

Question ID : 1151352365
Option 1 ID : 1151359458
Option 2 ID : 1151359460
Option 3 ID : 1151359459
Option 4 ID : 1151359457
Status : Not Answered
Chosen Option : --

Q71 gimplify the following expression:
3.5 x 0.5 x (4.4 — 0.625 + 1.5625)
Ans 1.7

X2 14

X3 1.75

X4 10.5

Question ID : 1151351609
Option 1 ID : 1151356434
Option 2 ID : 1151356436
Option 3 ID : 1151356435
Option 4 ID : 1151356433
Status : Answered
Chosen Option : 2
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Q.72 If in a code language, "HOME" is written as ‘LROF’ and *EYE’ is written as ‘HAF” and ‘SO’ is written as *UP’, how

will ‘HOUSE" be written in that language?

Ans > 1 LQXUF

Chosen Option :

X 2. MSWUF

X 3. LSXUF

« 4. MSXUF
Question ID : 1151351984
Option 1 1D : 1151357935
Option 2 ID : 1151357933
Option 3 ID : 1151357934
Option 4 ID : 1151357936

Status : Not Answered
Chosen Option : --
Q.73 The point on the supply curve at which a firm earns only normal profit is called the
Ans X 1. exit point

« 2. break-even point

X 3. break-through point

X 4. income point
Question ID : 1151352362
Option 1 1D : 1151359448
Option 2 ID : 1151359447
Option 3 ID : 1151359445
Option 4 ID : 1151359446

Status : Not Answered

Q.74 M. N, O, PandR are sitting around a circular table. All are facing towards the centre of the table. M is seated second to
the right and N is seated third to the right of O. P is seated second to the left of N. Who is seated between N and O when

counted from the left of O?

Ans  X'1. MorR
2. Only R
X3 Only P
X4 PorR

Question ID :

Option 1 ID
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351980

1 1151357918

1151357917
1151357919
1151357920
Not Answered
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Q.75 A solid right-circular cone is 11.2 cm high and the radius of its base is 2.8 cm. If the cone is

melted and recast into a sphere, then what will be the diameter of the sphere?

Ans X' 1. 84 cm

X2 42cm
X3 2.8cm
4 5.6cm
Question ID : 1151351605
Option 1 ID : 1151356420
Option 2 ID : 1151356418
Option 3 ID : 1151356417
Option 4 ID : 1151356419
Status : Answered
Chosen Option : 1
Q.76 Find the cost of painting all surfaces of a 10 m long hollow steel pipe whose internal and external diameters measure 15
cmand 17 cm respectively, if the cost of painting | em? of the surface is Z0.15. [Usen= ?}
Ans 1. 215100.80
x< 2. 15000.80
X3 Z15200.80
X 4. %15160.80
Question ID : 1151351608
Option 1 ID : 1151356429
Option 2 ID : 1151356430
Option 3 ID : 1151356431
Option 4 ID : 1151356432
Status : Not Answered

Chosen Option :

Q77 The SI unit of length is

Ans 2 1. metre
< 2. inch
< 3. feet

< 4. mile

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352372
1151359485
1151359488
1151359486
1151359487
Answered

1
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Q.78 Six colleagues, Ranjana, Diksha, Chahat, Aakash, Rita and Suraj, are sitting on a bench in a park facing north. Rita is
sitting at the east end of the bench. Ranjana and Chahat were sitting immediately next to each other. There are only two
people sitting between Aakash and Suraj. Diksha has only one person to her right. Aakash is sitting at the west end of
the bench. There are three people between Rita and Ranjana. Who is third from the west end of the bench?
Ans 1. Chahat
X 2. Ranjana
X 3. Diksha
X 4. Suraj
Question ID : 1151351963
Option 1 ID : 1151357852
Option 2 ID : 1151357849
Option 3 ID : 1151357851
Option 4 ID : 1151357850
Status : Answered
Chosen Option : 1
Q79 YWhat will be the median of the given data?
1 1.0, 23,00, 00,539, 95,42 456
Ans  X'1. 2.3
2 24
X3 2.6
X4 2.5
Question ID : 1151351625
Option 1 ID : 1151356497
Option 2 ID : 1151356499
Option 3 ID : 1151356498
Option 4 ID : 1151356500
Status : Answered
Chosen Option : 2
Q.80 Study the given letter, number, symbol series and answer the question that follows.
(Leff) @ STRM#2QQ3ZA4@W!R#5N%A! T & 4 A (Right)
How many such letters are there which are immediately followed by a symbol and also immediately preceded by a
number?
Ans 1. 4
xX23
X3 1
4 2
Question ID : 1151351992
Option 1 ID : 1151357968
Option 2 ID : 1151357967
Option 3 ID : 1151357965
Option 4 ID : 1151357966
Status : Not Answered
Chosen Option : --
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Q.81 o &, eRdmr ste F=ff3 (Second Buddhists Council) EEWT FEteT & S o
Ans X 1. HosT
X 2. HTEE
x 3. glerer
< 4 eI
Question ID : 1151352375
Option 1 ID : 1151359499
Option 2 ID : 1151359500
Option 3 ID : 1151359497
Option 4 ID : 1151359498
Status : Answered
Chosen Option : 4
Q.82 Which of the following is the most gender equal country, according to Global Gender Gap Report 20217
Ans & 1. Iceland
X 2. Finland
X 3. Sweden
X 4. Norway
Question ID : 1151352352
Option 1 ID : 1151359406
Option 2 ID : 1151359408
Option 3 ID : 1151359407
Option 4 ID : 1151359405
Status : Answered
Chosen Option : 4
Q.83 Asum of ¥ 14000 amounts to 18515 in 2 years at a certain rate percent p.a., interest compounded yearly. What will be
the compound interest on the same sum, in the same time and at the same rate, if the interest is compounded 8-monthly?
Ans X1, T 4494
X 2. 4620
« 3 T 4634
X4 73234
Question ID : 1151351610
Option 1 ID : 1151356437
Option 2 ID : 1151356439
Option 3 ID : 1151356440
Option 4 ID : 1151356438
Status : Not Answered
Chosen Option : --
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Q.84 Find the least number which when divided by 11,12,13,14 and 15 leaves the remainder 2 in each case.

Chosen Option :

Ans 1. 60062
< 2. 50058
< 3. 60060
X 4. 60002
Question ID : 1151351630
Option 1 ID : 1151356518
Option 2 ID : 1151356517
Option 3 ID : 1151356520
Option 4 ID : 1151356519
Status : Answered
Chosen Option : 1
Q.85 Frradr 2022 F amAfaE 208 e AT e wHRE # ofirg frew wfaaifiar Sofr & wdses
fer &1 [N Siae el fred Fgee (Koozhangal) &1 fde et fmam g2
Ans 2 .
v 1. 9r.ug. Tadeu= (PS Vinothraj)
X 2. T "R (Ranjith Sankar)
X3 gl faerr
X4 gEsier JroEtedy
Question ID : 1151352337
Option 1 ID : 1151359345
Option 2 ID : 1151359346
Option 3 ID : 1151359348
Option 4 ID : 1151359347
Status : Not Answered

Ans

Q86 Kuroshio current flows in which of the following oceans?

X 1. Southern Ocean
+ 2. Pacific Ocean
X 3. Atlantic Ocean
X 4. Indian Ocean

Question ID :
: 1151359400
Option 21D :
: 1151359398
Option 4 ID :
Status :

Chosen Option :

Option 1 ID

Option 3 ID

1151352350

1151359397

1151359399

Answered
3
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Q.87 Ina certain code language, BUTTER is written as 2212020518, MINED is written as 1391454, How will OIL be written

in that language?
Ans X1, 12345
W 2. 15912
X 3. 18632
X 4. 17456
Question ID : 1151351976
Option 1 ID : 1151357903
Option 2 ID : 1151357901
Option 3 ID : 1151357902
Option 4 ID : 1151357904
Status : Answered
Chosen Option : 2
Q.88 Who is the only Indian appointed as a member of Badminton World Federation's (BWF) Athletes Commission till 20252
Ans  X'1. Saina Nehwal
X 2. Bhamidipati Sai Praneeth
X 3. Srikanth Kidambi
+ 4. Pusarla Venkata Sindhu
Question ID : 1151352341
Option 1 ID : 1151359362
Option 2 ID : 1151359364
Option 3 ID : 1151359363
Option 4 ID : 1151359361
Status : Answered
Chosen Option : 2
Q.89 S is shorter than N. P is taller than S. Q is taller than N but shorter than H. N is taller than P. Who will be exactly in the
middle if they stand in a row according to height?
Ans 4 P
X2 0Q
X3 H
4 N
Question ID : 1151351988
Option 1 ID : 1151357952
Option 2 ID : 1151357949
Option 3 ID : 1151357951
Option 4 ID : 1151357950
Status : Answered
Chosen Option : 4
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Q.90 Select the option that is related to the fifth term in the same way as the second term is related to the first term and fourth
term is related to the third term.

Rahul : 12 :: Zenus : 17 :: Vinas: ?

Ans 1. 15
¥2 13
<3 11
X4 14
Question ID : 1151351972
Option 1 ID : 1151357888
Option 2 ID : 1151357885
Option 3 ID : 1151357887
Option 4 ID : 1151357886
Status : Not Answered
Chosen Option : --
Q.91 Raman and his sister Shikha study in the same class. Raman’s rank in an examination is 118 from the bottom and
Shikha’s rank in the same examination is 15 from the top If there are 11 students who ranked between Raman and
Shikha, how many students are there in the class?
Ans #1123
X2 24
X3 25
X4 22
Question ID : 1151351981
Option 1 ID : 1151357922
Option 2 ID : 1151357923
Option 3 ID : 1151357924
Option 4 ID : 1151357921
Status : Not Answered
Chosen Option : --

Q.92 The numbers 4.6,10. x, 20,24.32 are arranged in ascending order. Find the value of x if their mean and their median are

equal.
Ans X112
<2 20
3. 16
X4 8
Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status :
Chosen Option :

1151351632

: 1151356526

1151356528

1 1151356527

1151356525
Answered
3
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then find the ratio of the number of boys to the total number of students who took part in the quiz.

Q.93 64 students of Class 10 took part in a mathematics quiz. If the number of girls was 16 more than the number of boys,

Ans  #1.3:8
X2 4:9
K35:8
X4:3:5
Question ID : 1151351635
Option 1 ID : 1151356537
Option 2 ID : 1151356539
Option 3 ID : 1151356540
Option 4 ID : 1151356538
Status : Answered
Chosen Option : 4
Q.94 Read the given statements and conclusions carefully. Decide which of the given conclusions is/are true based on the
given statements
Statements:
K<0=M>NandL>M
Conclusions:
LL>K,
ILN<K
Ans 1. Only I is true
X 2. Both I and II are true
X 3. Both I and II are not true
X 4. Only IT is true
Question ID : 1151351982
Option 1 ID : 1151357925
Option 2 ID : 1151357927
Option 3 ID : 1151357928
Option 4 ID : 1151357926
Status : Answered
Chosen Option : 1
Q95 gra F wguly # AT vF A I gERT R ar § owE ¥ anfaw g #
1. §9E % =T FeaT AT siegsr T TeaEs ¥ R weww
2. 7= faura memait & T mew
Ans
X1 Fhaer 2
X2gdar1aFg 2
X3 e 1
Question ID : 1151352357
Option 1 ID : 1151359426
Option 2 ID : 1151359428
Option 3 ID : 1151359425
Option 4 ID : 1151359427
Status : Answered
Chosen Option : 4
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Q.96

Which of the following states stands at number one in terms of route kilometers at the end of the year 2019-20 as per
the Indian Railways Yearbook 2019-20?

Ans X 1. Rajasthan
X 2. Maharashtra
+ 3. Uttar Pradesh
X 4. Madhya Pradesh
Question ID : 1151352349
Option 1 ID : 1151359394
Option 2 ID : 1151359393
Option 3 ID : 1151359396
Option 4 ID : 1151359395
Status : Answered
Chosen Option : 2
Q.97 The income of A is 25% less than the income of B whose income is 40% more than that of C. The income of C is 20%
less than that of D. By what percent is the income of A more than the income of C?
Ans &1 5
X2 10%
X3 4
X4 8
Question ID : 1151351615
Option 1 ID : 1151356458
Option 2 ID : 1151356460
Option 3 ID : 1151356457
Option 4 ID : 1151356459
Status : Answered
Chosen Option : 1
Q98 Find the value of x in the following equation:
1 6 x
1+—|+1==°2
1 +:I 1 2z
g
Ans 1. 2
X2 ]
_ 1
X3 —
2
_ 2
xa Z
3
Question ID : 1151351631
Option 1 ID : 1151356524
Option 2 ID : 1151356521
Option 3 ID : 1151356522
Option 4 ID : 1151356523
Status : Answered
Chosen Option : 1
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Q.99 wurer weifed (9@ semgme o0 R & &9 # & S o 8) g4 #r susterdt &
a1 & SAFET TS T §

Ans -\ WHEA

-2

X 2. TEICA-FUH

73 el
X 4. SR
Question ID : 1151352374
Option 1 ID : 1151359494
Option 2 ID : 1151359493
Option 3 ID : 1151359495
Option 4 ID : 1151359496
Status : Answered
Chosen Option : 1
Q.100 Ravi has 1530 eggs with him while Vinita has 2380 eggs with her that needs to be placed in cartons. What is the
maximum number of eggs that each carton should hold so that both Ravi as well as Vinita find such cartons
acceptable to use, leaving no empty space, nor having any egg unpacked?
Ans X' 1. 255
« 2 170
<3 85
X 4. 340
Question ID : 1151351606
Option 1 ID : 1151356424
Option 2 ID : 1151356422
Option 3 ID : 1151356421
Option 4 ID : 1151356423
Status : Answered
Chosen Option : 2
Q10 Ifx: y = 3: 4,then(7x-4y): (3x + 2y) = ?
Ans X 1.1:4
X2 1:3
X3 2:7
w4 5:17
Question ID : 1151351601
Option 1 ID : 1151356403
Option 2 ID : 1151356401
Option 3 ID : 1151356404
Option 4 ID : 1151356402
Status : Answered
Chosen Option : 4
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Q.102 1680 &, PE=T & LEl

, FI T8 TIHIA & Foeg Scaiiuen & 48 # =g 9oa &4 &

ag fEgea W 35 9
Ans x 1. QHE

X 2. grefr=ir

v 5 gt

X4 FqET T 9UH
Question ID : 1151352376
Option 1 ID : 1151359501
Option 2 ID : 1151359503
Option 3 ID : 1151359502
Option 4 ID : 1151359504

Status : Answered
Chosen Option : 3
Q103 The Davis Cup 2021 was won by
Ans X1, Austria

X 2. Uzbekistan

X 3. Croatia

+ 4. Russia
Question ID : 1151352344
Option 1 ID : 1151359373
Option 2 ID : 1151359374
Option 3 ID : 1151359375
Option 4 ID : 1151359376

Status : Not Answered
Chosen Option : --

Ans

of the cylinder?

o 1. 224nm
X2 256m
X3 112n
X4 192m

Q.104 The volume of a right circular cylinder is 17927 cm?® and its radivs is 16 cm. What is the curved surface area (in cm?)

Option 2 ID

Option 4 ID

Question ID :
Option 11D :

1151351618
1151356470

1 1151356471
Option 31D :
1 1151356472

Status :
Chosen Option :

1151356469

Answered
1
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X 2. 80aT T
3 42T e

Q105 Gy # ¥ v wenfaes Geltue g AlfSF wdedl & A gfere & anfder far =mam a2
Ans i
7 40aT |

Chosen Option :

X 4 86aT Hafte
Question ID : 1151352359
Option 11D : 1151359433
Option 2 ID : 1151359435
Option 3 ID : 1151359434
Option 4 ID : 1151359436
Status : Answered
Chosen Option : 3
Q.106 Avik runs at a speed of 8 metres per second. How many kilometres will Avik cover in 24 minutes if he continues
running at the same speed?
Ans 1. 11.52
X2 11.56
<3 11.44
<4 11.60
Question ID : 1151351607
Option 11D : 1151356426
Option 2 ID : 1151356427
Option 3 ID : 1151356425
Option 4 ID : 1151356428
Status : Answered
Chosen Option : 1
Q107 | There are four friends Punit, Kaushal, Rakhi and Jagjeet.
2. Punit and Kaushal play rugby and cricket.
3. Kaushal and Rakhi play rugby and badminton.
4. Punit and Jagjeet play cricket and basketball.
5. Rakhi and Jagjeet play badminton and basketball.
Who among the following plays cricket, basketball, and badminton?
Ans 2 1. Punit
X 2. Kaushal
X 3. Rakhi
« 4. Jagjeet
Question ID : 1151351993
Option 11D : 1151357971
Option 2 ID : 1151357970
Option 3 1D : 1151357969
Option 4 ID : 1151357972
Status : Not Answered
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Q.108 In covering a distance of 60 ki, Arjun takes 2 hours more than Rohit. If Arjun doubles his speed,

then he would take 1 hour less than Rohit. Arjun's original speed is:

Chosen Option :

Ans X' 1. 15 kmv/hr.
X 2. 25 km/hr.
X 3. 5 km/hr.
4. 10 km/hr.
Question ID : 1151351624
Option 1 ID : 1151356495
Option 2 ID : 1151356496
Option 3 ID : 1151356493
Option 4 ID : 1151356494
Status : Answered
Chosen Option : 4
Q.109 - 3
A AT, Rmrew & e F ¥ By su-adganer § g 7
Ans X 1. TTETE
< 2. FHRIARH
X3 FATE
X4 9T =TS
Question ID : 1151352345
Option 1 ID : 1151359378
Option 2 ID : 1151359379
Option 3 ID : 1151359377
Option 4 ID : 1151359380
Status : Answered
Chosen Option : 1
Q.110 A building has seven floors numbered one to seven in such a manner that the ground floor is numbered one, the floor
above it is numbered two, and so on, such that the topmost floor is numbered seven. One of the seven persons, namely
T.U. V, W, X, Y. and Z, lives on each floor, but not necessarily in the same order.
There are only two people living between the floors of X and Z. No person lives above U's floor. T lives in one of the
odd floors. The number of people living above and below Y is equal. W does not live above anyone other than V. X
lives in one of the floors above Z.
Who lives on the 5™ floor?
Ans a1 Y
X2 X
X3 Z
4 T
Question ID : 1151351961
Option 1 ID : 1151357843
Option 2 ID : 1151357841
Option 3 ID : 1151357842
Option 4 ID : 1151357844
Status : Not Answered
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Q.111 Select the option that is related to the fifth letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster and the fourth letter-cluster is related to the third letter-cluster.

EYXJ:IGBR :: CRFQ: GZJY 1 ZIQM : ?

Ans X' 1. DNUR

X2 EQVU
« 3. DQUU
X 4 ENVR
Question ID : 1151351968
Option 1 ID : 1151357869
Option 2 ID : 1151357872
Option 3 ID : 1151357871
Option 4 ID : 1151357870
Status : Answered
Chosen Option : 3
Q.112 Which of the following states is home to the only mine in the country involved in industrial-scale mining of diamonds?
Ans X 1. Tamil Nadu
X 2. Karnataka
« 3. Madhya Pradesh
X 4. Chhattisgarh
Question ID : 1151352348
Option 1 ID : 1151359392
Option 2 ID : 1151359389
Option 3 ID : 1151359390
Option 4 ID : 1151359391
Status : Answered
Chosen Option : 3
Q.113 Select the number from among the given options that can replace the question mark (?) in the following series.
3,78,9,69, 15, 60,7
Ans xX1. 22
v 2 21
X3 23
x4 19
Question ID : 1151351989
Option 1 ID : 1151357955
Option 2 ID : 1151357954
Option 3 ID : 1151357956
Option 4 ID : 1151357953
Status : Answered
Chosen Option : 2
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Ans

Q14 =% 2022 T ST FEEE F FFAR, TTTST H Tl & Al Hed 4?

v . 91y e

X 2 giger

K3 JreEE. e
X4 TH. FhdT ATO3

Question ID : 1151352360
Option 11D : 1151359440
Option 2 ID : 1151359439
Option 3 ID : 1151359437
Option 4 ID : 1151359438
Status : Answered
Chosen Option : 4
QM5 If 28957.5 + 268.125 = 108, then 289.575 + 2681.25 is equal to:
Ans X1 0.0108
X2 1.08
+ 3. 0.108
X4 10.8
Question ID : 1151351611
Option 1 ID : 1151356441
Option 2 ID : 1151356444
Option 3 ID : 1151356443
Option 4 ID : 1151356442
Status : Answered
Chosen Option : 4
Q.116
TS oTe $r gfremsT 7 22
Ans X 1.
Seaad FEESS # 32, AR qEr Fr yewia geagfe
X 2. HAET FATIEAT & 37T Faehifa 7 I
o 3.
HUT T BISH Fol Tl T gl H Fof T I HiThdr
x 4.
TeTEa HT;-."IT@T%‘J H &, 3T T Fr geTEig :Hﬁq%h
Question ID : 1151352364
Option 1 ID : 1151359454
Option 2 ID : 1151359453
Option 3 ID : 1151359456
Option 4 ID : 1151359455
Status : Not Answered
Chosen Option : --
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HY:

Ans

Q117 Rr =v weer Fr Rl awomst & & Fa-dr a=a 2

§ TF W A TH F, AT A 7Y A9 FEF AE H g, FAOT A 306 IeiTar A4 wg qEem
IRUTTG:
I WS F 97 g F UF O § A FHT e
Il. SE S A FT, TEE F e HE 3ed oG Fed B 3G A8 # ) E

X 1. Shder 9roT |l AT g
< 2 FFeT U | AT gl
X | #R I g g AT g
X4 | 3 1l g=r & 7T

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

1151351994
1151357974

: 1151357973
Option 31D :

1151357976

: 1151357975
Status :
Chosen Option :

Answered
3

Q18 B F ¥ #7177 ATA E (Saikuti Zai) Fr wi T TR F7 3eeH TIT 37
Ans 51 aAfaer

wz.ﬁ—\,ﬂm

X3 geraTTer

X 4 Far

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

1151352381
1151359523

: 1151359522
: 1151359521
: 1151359524

: Not Answered
Chosen Option :

on Z AL

Q.119 A group of 8 students, T, K, L, M, N, O, P and Q are sitting in two parallel rows facing each other. Each row has four
students. Q and N are facing each other. Q is an immediate neighbor of both P and O. K is sitting to the immediate left
of O. K and J are diagonally opposite. M and N are not immediate neighbours of each other. Who is in front of L?

Ans x 1.
X 2
X 3.
o 4.

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 1151351991

1151357963
1151357964
1151357962
1151357961

Not Answered
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Study the pie chart and answer the following question.

6%

31%

How much was spent on decoration and DJ together if the total expenditure was 32,7007

Ans 1. 28,175
X2 37,725
X 3. 28,347
X 4. 37359

Q.120 The following pie chart shows the expenditure distribution of a party. The blue part represents decoration expense,
green part represents DJ expense, red part represents the food expenses and yellow part represents venue expenses.

Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :

1151351995
1151357978

: 1151357979

1151357980

: 1151357977

Answered
1




